KTH Matematik

5B1134 Matematik och modeller

KOD a b ¢ P A Xz

10693 3|41 0] 3| 2 10 G
10841 1|1 41 1] 2| 1 8 G
10943 3| 3| 1] 1 8 G
11049 3| 4] 0| 3 10 G
120121 1| 2 3 6 G
12042

12426 3 | 4| 1] 3 11 G
13011 2 1 1 1] 3 7 G
13862 1| 3 (1] 2| -2 7 G
14661

16021 3 | 4| 1] 2 10 G
16744 3 1 4| 1| 3 11 G
16799 2 | 1| 0| 1 4 U
16965

17335 3 | 4| 1] 3 11 G
17587 11 1 {0 2| -3 4 U
19003

19048 2 | O 1| -3 3 U
19168 3 | 4| 2| 3 12 G
10478 3 1 4| 1] 2| 1 10 G
19531 0 | 1 21 1 3 U
20981 2 { 3| 0| 3| 1 8 G
20994 0 | 2 3| -1 5 U
21074 1 | 3 | 1] 2 | 1 7 G
240841 1 | 1| 1] 3| -3 6 G
24541

24983 2 [ 2| 1] 3 8 G
257151 3| 21 0| 2| 1 7 G
257411 1 11| 0| 2| 1 4 U
28982 2 [ 1| 1] 3 7 G
28997 3 [ 3| 0| 3 9 G
29046 3 | 2 3] 1 8 G
292481 1| 31 0| 3 | 1 7 G
31143 0 [ 2 | 1 | 1 4 U
31324 3 (1| 0| 3| -3 7 G
314041 2 1 3| 0| 2 7 G
32570 1| 2|1 0| 1| -2 4 U
33125 2 [ 3| 1] 3 9 G
33433 3 [ 3| 1] 2] 1 9 G
33874 1 | 3| 1] 2| 1 7 G
34087

34160 1 [ 3| 0| 3| 1 7 G
34340 3 [ 1] 0] 3 7 G
35461 3 [ 4| 0] 3 10 G
39798 2 [ 2| 0] 2] -3 6 G
40724 2 | 3 | 1|1 2| 1 8 G
41227 31 0| 0| 2| 1 5 U
41763 3 1 4| 1| 3 11 G
44175

46105 2 1 3|1 0| 3| 1 8 G
472241 3 1 4|1 1| 3 11 G
48615 3 | 4| 1| 2| 1 10 G
40273 2 14| 1] 2| -2 9 G
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KOD a b ¢ P A Xz

40422 11 3 [ 1| 2 7 G
495571 11 2|1 0| 3 6 G
49910] 3 | 1 3 7 G
51218 1 | 1 2| -2 4 U
51906 3 [ 4| 0| 3 10 G
52867 3 | 4| 1] 3 11 G
53214 2 [ 1] 0| 3 6 G
53395 2 (1| 0] 2] -2 5 U
542911 3 14| 1| 3 11 G
54346 0 | 3| 0| 1 4 U
55842 3 [ 3| 1] 3 10 G
56088

56802

56815 3 [ 3| 0| 3| 1 9 G
56988 3 | 3 3| -1 9 G
572431 3 1 4| 1| 2 10 G
58230 2 [ 3| 0] 3 8 G
58260

58311 3 [ 4| 1] 3 11 G
58608 2 [ 1| 1] 1] 1 5 U
58709 3 [ 2| 0| 2 7 G
58959 3 (4| 0| 2] 1 9 G
59290 1[4 | 1] 2] 1 8 G
59513 3 [ 4| 1] 3 11 G
59564 2 | 4 3] 1 9 G
59622

59879 3 [ 4| 1] 3 11 G
59972 2 | 3 3 8 G
60619 3 [ 4| 1] 3 11 G
61575 3 [ 4 [ 1| 2| 1 10 G
61986 2 [ 4 | O | 3| 1 9 G
62925 2 | 3 [ 2| 3| 1 10 G
63549 3 [ 3| 1] 3| 1 10 G
64483 3 [ 4| 0| 3 10 G
64978 3 [ 2| 0| 3 8 G
65274 3 [ 1] 0] 3 7 G
65644 3 [ 4| 0| 3 10 G
66596 3 [ 4| 1] 3 11 G
66625 2 [ 3| 1] 2] 1 8 G
67040 3 | 1 2| -2 6 G
67563

70443

70777 3| 4| 1] 3 11 G
71196 2 | 3 [ 1| 3| 3 9 G
71642

71935 3 [ 4| 1] 3 11 G
72743 3 [ 4| 1] 3 11 G
72802 0 [ 3| 0| 3| -3 6 G
72885 3 14| 1| 2 10 G
73472 3 | 4| 1| 3] 1 11 G
73573 33| 0| 2] -2 8 G
74193l 1| 2|1 0| 2| -2 5 U
754921 3 | 2 1] 2| 1 8 G
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Snitt

23 29 06 2,5 -0,9
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